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Grupa A

PRVI KOLOKVIJ IZ ELEMENTARNE MATEMATIKE II

1. Riješite sljedeće jednadžbe:

a) |3x + 1|+ |x− 5| = 2x + 10,

b) 3x+1 · 22x−1 = 18 · 123−x.

2. Riješite jednadžbu
3 sin2 x− 2 sin 2x + 1 = 0

3. Riješite sljedeći sustav jednadžbi

sinx · sin y =

√
2− 1

4
, tgx · tgy = 3− 2

√
2

4. Riješite nejednadžbu √
−x2 + 4x− 3 > x− 2

5. Riješite nejednadžbu

log|x− 1
2
|
(
−x2 + 2x + 3

)
≤ log|1−2x| (2x− 1)
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Grupa B

PRVI KOLOKVIJ IZ ELEMENTARNE MATEMATIKE II

1. Riješite sljedeće jednadžbe:

a) |4x− 1|+ |x− 6| = 2x + 9,

b) 4x+2 · 32x+1 = 8 · 6x−1.

2. Riješite jednadžbu
3 sin2 x + 4 sinx cosx + 5 cos2 x = 6

3. Riješite sljedeći sustav jednadžbi

cosx · cos y =
1 +
√

2

4
, ctgx · ctgy = 3 + 2

√
2

4. Riješite nejednadžbu √
3x2 − 2x− 1 ≤ 2x− 2

5. Riješite nejednadžbu
log2

(
x2 − 5x + 4

)
· log|x+4| 2 ≥ 1


